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[ K(II)-Economics-H-3B ]

2018
ECONOMICS-HONOURS
Third Paper
(Group B)

Full Marks : 50

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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(3) [K(H)-Economics-ﬂ-ss]

[English Version]
Section A

Answer any five questions. 4x5=20

d

M
Suppose that in the money market, the money demand function is [F) = 1000 — 1007, where r is the
interest rate in per cent. The money supply M is 1000 and the price level P is, 2.

(i) What is the equilibrium rate of interest?

(ii) If the Central Bank wishes to raise the interest rate to 7% what money supply should it set? 2+2

Use the Fisher equation to explain when can the real rate of interest become negative. What should the
Central Bank do if it happens? 3+1

In a classical economy, the government raises taxes by ¥ 100. If marginal propersity to consume is 0-6,
what will happen to the followings? Do they rise or fall? By what amount?

(a) Public savings
(b) Private savings
(c) National savings
(d) Investment

Derive equations of IS and LM curve and find out the equilibrium levels of Y and r if C=0-8 (1 - 7)Y,
T = 025, I = 900 — 50, G = 800, M9 = 0-25Y — 62-5r, (M/P) = 500. 2+2

Consider an open economy without government with C = 20 + 0-8Y, 1= 15, X =8 and M =5 + 0-3Y.
Compute the changes in Y and in the trade surplus if

(i) X becomes 10 and

(ii) autonomous import rises to 7. 2+2
Suppose the cash-reserve ratio of Commercial Bank is 1/5 and the currency-deposit ratio of the public

is also 1/5. Under this condition, if the government takes a loan of ¥ 100 from the Central Bank and
spends it, then by how much will the money supply increase? 4

Define Tobin’s q. Is it a good indicator of the economic health of a firm? 2+2

. Find the steady-state levels of income per worker and consumption per worker for an economy which saves

10% of output each year, and another economy which saves 20% of output each year. In both countries
10% of capital stock depreciates each year. 2+2
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Group B

Answer any five questions. 6x5=30

9. Suppose the government increases its expenditure. Show its impact in an IS-LM model in the followmg
three cases

(a) the government keeps the rate of interest constant.

(b) the money stock remains unchanged

(c) the aggregate demand is kept constant. 24242
10. What is Solow Residual? Why is Solow residual often used as a measure of technological progress? 2+4
11. If an individual’s life span is divided in two periods, namely, period 1 and period 2, how will he decide

the optimum level of consumption in these two periods? What happens if there is a rise in the rate of

interest? (Use the case of a net borrower). 343

12. Explain the slope of the AS curve in the short run using the sticky wage model. Will this model hold if
the production function exhibits increasing return to scale? 5+1

13. How does an economy achieve internal and external balance under fixed exchange rate? 6

14. Explain adaptive expectation and inflation inertia with the help of a modern Phillips curve. Do you agree
with the rational expectation school that disinflation can be painless? 2+2+2

15. What is the exact relationship between the transaction demand for money and rate of interest? How do
you know that the relationship optimises the transaction demand for money? 4+2

16. (a) What is the relation between capital account and current account in Balace of Payments?

(b) Mention the ways to finance current account deficit in Balance of Payments. 4+2
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